Year 5 Homework, Autumn Term Week 7
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does Tom have?
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3. Russell says 3/8 > 3/4 because 8 > 4. Do
you agree? Explain your reasoning.

4. What is 5% of 244?

What is 3/8 of 272?

6. s 227 a prime number?

Maths: Speedy Six
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2. Sam and Tom have £67-80 between them. If
Sam has £6:20 more than Tom, how much

Keep practising your times tables.
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Theme Homework — Due 30th November

We are beginning our new theme ‘Ancient Civilisations” and will be focussing on the Ancient Egyptians.
As a 3-week project, we would like you to complete a project on the religious beliefs of the Ancient

Egyptians. See the extra sheet for more detailed instructions.

Extension

We know what excellent spellers you are.
Your first challenge this year is to check that
you know how to spell all the tricky words
the government expect you to know by the
end of Year 6. You may have had some of

these words last year, but this year we are

testing you on them. Here are the next 10.

prejudice
privilege
profession
programme
pronunciation
queue
recognise
recommend
relevant
restaurant
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. Add the three missing commas into this sentence.

cleaned that day and drove off on his night out.
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ﬂptional SPAG qguestion (1 housepoint if completed\

After washing his hair Dave ?ot into his car which he had also

/

Homework is due in on 16" November.



